X1)=MBTH = MPadsafai MBRK.S ' 90
ok i ‘ng
UNIT TEST (1 -5) IME 2 hy§ ZoMins,
L chag
————M&_@é&q R

’-IJCH: ._3:. A
S lard A'=5" thon He Value of X 4S

0 &

e @g.dé A) &

s ¥ 2 SRt
'21—\)( ATA-.,L-.,S ngrm,fvic,,)‘ﬁm,nf)-z:__ ' &)ﬁ' 5)(}3"') Q)HT d)(H I)

S Pfﬁ):P(A/B),mnmJysem AX=B LS &) LN ConanSternt
b tonSistank N0 Sodukion o) Evivial Solaction

A Tansforming a non-Singeloy makvix 4 o tha form In by applying
&(.umu\,tv\(j Yiow o—fe.va_é-fcfh /S C,GJUJZ-O/ 09670.4,()!/3 e Lim inaton m&)usq/
b) Graunry Toyolan Mathod c)MakyisC InvexSom Meliisof ) Ronk. mothed

=3 «( —/7°21'I' clulg a)O b) ) c),( cﬂ) LY

£ s PU\Ye/(’ﬁ 1Magynav Y ff z.= Nz &) ) g )=tz

| then Fha husmbex of diStince roots of

Ze BLn- 2fi =Y
. e oD 90 O
LS 9 =W
8. 2§ = = C\/—'-,u) (31+4) dior (Zl= @0 B R d)3
(8+6n)"2
R PO/jrme-'p eguation 0f0€“:9m”21 hay atleast ore yeot /n
e ) D7 4 C
/U-f-fﬂw-e.;ua.,hoﬂa o pctg = ~o ard x -;—P’xi-i_ohavea G
YUVt then £6 Mk be. = a)_}_’_—-_, );}i
c) .__i;_z_l 4) A e g

e S



http://www.padasalai.org/

Padasalai

1. Tha dsmain 0 rhe J('wcﬁmﬁ aﬁj)mzzj by 0= 5)~n~1m o
A e L) mi,0] &) W d) [-)0] -

/’ZIf ‘gfn—‘ -‘?"’ f‘COSQ-(:,—‘SH-:_" :j} . bhan ’f‘rm-\la&p-ﬁ— of XAS

Gio Ly <) PS5
\ ) g
'3 Ropolivy 0F tha cixelo oot rasi ragx+r2fy+c =0 LS

= : Em Ea i i /
S DT o THER Jirate

e-<) £5

/4'C°—‘\’<N- Line of Sﬁt\»\s&é@& 5—\»!\(,&4\!“ 5:& y+a tosCh

&) x=d b) xza Oy=d Dy=a
S NG SO R R D - de |

b 2 22518 1001999 dog iniradsy hoy @ Positive Yoo , Af]

c,>0<<o CU o 20

15 .

A)xto b)ax>0
,71—-9;\3&—\ 03» | atuel wvadckuwm O

Qb3
= a
18 ocConrkyierty

LY < (- do

I The Q MipSe. 1S

a) |

l? j::fy e (,.:—o*&»:r\sd@ ak Ons- U‘@Q 03‘ o diauma ke Oj—H«LUYu{L
‘;CVQ.*.S'Z__SDQ_L‘_&_‘,Q:O oy C\],&>'ﬁ&@-0¥&;r\o~k% U:E‘T‘L\;,oﬁ“_}(
end o~

(&) (-5,2) b) (&,-5) & (i) OU(~°?,5)

B g iy kS novmal m*"\"—F‘““‘”LO‘ Y =)ax Fhen
‘H"\L VQ_&’-&L_Q'} k A
Play o d) 9

_a)3



http://www.padasalai.org/

Padasalai
L. j)Answey ary 7. GueSErons . i) g uwidbion nuwmbey 30 LS c.sm.pv-ts

Q’-Stodcq-o-ﬂo{ Prove M{- Cconcelation Law S-m ma kel

- \
2. Fird ths ok o} S:, i_]
=N

=1z ; S)'M-fjl\:ﬁj . j’ .A.t,L:’— P, 10?0020
. Tf ==y | find R (UZ)
<5. If pw-d § ove Hhe youts of the uakion L Enx +h=o0,

Shows thak \f?’f};— 27 =0

A

<. Row Hat a Ling cornnot rntexsect & C’-Yc’&'afﬂwm/'ﬁn.nf-woﬁyw
7. DYina_ m_fph_d_k ard pevied of auqerl,
AT o e 3{«-15\.\ o& Se ok j\mu—icm !

A9 . Solve ! tugy) < X )= LAl fox x>0,

30. The oLt of Holleys Comet 1S on <Mipse 36-18 asevanomacalt
LWniks Aong and by 9-12 astwonbrastad ity wide | Find i ecantvicty

Mwbm%m@&xw@@w

Zx3=2)
e L -2 ]us orrngIorad . find a,bard ¢ and hence 57

3R . Solve AF+Y—2Z =0,AXL ~3HN+Z =0,3X - 7Y+ /loZz=0, b —9Y+loz=p
33. Brd Zﬁ’ 4,} == (o?+3,()(l~i)

34 . Fird ths Sen of SPueved OF nOLS Of Ha Qguotivn axT g3, 6 3
IS Solue ;)(_ 9 +20 =0

36. F:‘"d f‘kn-dﬂfmmf)f- S 'Kk~ 3.1)

ST Tha Line. 304484~ 12 =0 masks tha Coovdirote axes ax AandR
Eing s egira tiom of Ha Civele dyosan on AR o d_,\w

B0 Pd e ’a.rﬁﬂ.\oj— Lotss vyacbum of e Pavabola $pax

oo biom of tha < Uipse Whose CL:; 1 of Tha oo 13(2,3)
&mn..ch\al 1S =7, MOﬁ'ﬂf-ﬁbegfh oj mMAinoy axX s

£ Moddios of-fta Prodiace s aqual to Product oF M modals



http://www.padasalai.org/

P I ; S0 >

- 1_Anjuex odhiTie Puasicionh .
4 LQJZYWQ-S&-qu_kG/ jo—( Shox \aliex
HFRYFZ =T, XHIAZ =M T
@) on rigue Selcion GAY) oo 1A
©R)
! W
b) 85 \AMY@ &M,‘M Q_L;MLM_Q;-\UVN mg_k-\mﬁQQ g wﬁ-

Chsmical YauacGion Qgpro ki €5 HgtQa
eNS SucA Pra b

FRE = Tos

ot 5 o.n';\ S H@_Sﬁgk-woﬁ Linaase Qg uotiany
i) o Solusion
Lo tomsy

42.0) | o\ o.n&z l:Q.C-SmPg&DQM ,
) =z, 2y =3 = 42t 2 =+0. Prove W}

©")

b) Prova- ok Sialx - sid'=s8ia (ki /~92 - W | ~oct ) Wheva atthey

o3 w<) (o) Yy >0

\z\\_—.\zn_\:.\za\ =Y >0

L‘3‘G~)_ Pyrova. tho & H\g_\[a,\:-% od ‘tl_:-_)- aor\:a_i-‘ﬁ C\ii)
©R)

b . Eveliose gcnK;g\‘a\ (—?,-—>+5Q5\<%)]

r-0) Solva ! (1) (=TI~ DX+D=IET (OR)
b) selve © x*_ (ooP +bE—0X £150

£5).2) gofva A tari'(easn) = tamd (@ secx) (OR)
B Eind e Lscon ot P N3 i;’\>=-1—§—

HEXFind Hrs aguotion of Prs civcds thvoudh tha poines (19, 6.0), ()
er)

L) Fird fhe Cantye \Vex{eed ,Wd’}fﬁﬂ'focf ,Aongth of Latuns yetEor |
Fov Lol FS ranX -~ R+ =O-

47)) p sermioatbippiond ovebusms orer a onemmss voud hes o hasigns
oj 3M ord a wiclkh of 12m  The Evuck hay & width of 3m

ard a hosght of @7m. Wil the bvuck cloay fhoopaning &f tha
%) By ¢

b) Cy0s3 Sethion & &N“CL’NDE:“ 1323 Tl e
‘f\fﬁ?a»(bolg\ Giife e :SE‘-I\J'TLS B T banios (S ioaity &adimnd
o At S nta From tha kop o tha Lobae( o the (ankve- of tha haypeyiala

i3 oA Hre_diskonta fvom tha bode 0F tha Cobul €0 Haa tankye 04 tha
bﬁabeh-\:'\r\dm Nadlivs Of-Ha bop and bat oFtha owny |



http://www.padasalai.org/

